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100%%E | 13B8AR | omkiE | 1OFKME | 13ERME | omfE | 19B%RME | 13BRAE | oM ETeS (U5 R5)
ESmEH<a> 7 4 0 3 10 0 15 4 0 43 (25+18+0)
RIEER 3 1 0 3 5 0 1 3 2 18 (7+9+2)
FHREHER) <b> 4 3 0 2 5 0 6 4 0 24 (12+12+0)
b/a(%) 57.1 75 0 66.7 50 0 40 100 0 55.8
f% - IR L3E8H | THEIK — SIEARL | 205200 — 215240 | 9BETIK — 75720
B (%) 61.9 43.8 — 55.6 50.0 — 46.7 56.3 — 51.0
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ZmEH<a> 20 9 3 11 23 7 42 15 4 134 (73+47+14)
RIEER 7 3 1 5 9 6 8 8 3 50 (20+20+10)
FHREHER) <b> 13 7 3 5 11 6 19 12 4 80 (37+30+13)
b/a(%) 65 85 100 45.5 47.8 85.7 45.2 80 100 59.7
fé - B 365240 | 205160 | 9MEORR | 145190 | 45ME47RE | 115230 | 6115650 | 295310k | 15590 | 240/52430%
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